

MDPI

Article

Sex Education and Comprehensive Health Education in the Future of Educational Professionals

Francisco Javier Jiménez-Ríos D, Gracia González-Gijón D, Nazaret Martínez-Heredia *D and Ana Amaro Agudo

Department of Pedagogy, University of Granada, 18071 Granada, Spain

* Correspondence: nazareth@ugr.es

Abstract: This work shows an approach to comprehensive sexual education as an anthropological key to promoting health in the self-realisation of future education professionals. Comprehensive sexual education and health form a system. To carry out this study, we have analysed the opinion that students of the Faculty of Education Sciences of the University of Granada (Spain) have about the comprehensive sexual education received and the importance of this training in their professional practice. For this purpose, we used a quantitative and exploratory research design, using a question-naire as an instrument for collecting information with a sample of 293 students. The results show that students have received poor sex education, along with the belief that education professionals do not receive proper and organised training in sex education. We can conclude that the majority of respondents consider sex education to be a recognised right, highlighting the importance of education professionals receiving proper training in sex education at university, where content related to respect, education for equality, and sexual health is prioritised. Sexuality constitutes the fundamental anthropological structure: comprehensive sexual education is a source of personal (corporal, psychic, spiritual) and social health, hence the importance of educating in comprehensive sexuality.

Keywords: comprehensive sexual education; health; young people; university; Spain



Citation: Jiménez-Ríos, F.J.; González-Gijón, G.; Martínez-Heredia, N.; Amaro Agudo, A. Sex Education and Comprehensive Health Education in the Future of Educational Professionals. *Int. J. Environ. Res. Public Health* **2023**, 20,

Environ. Res. Public Health **2023**, 20 3296. https://doi.org/10.3390/ijerph20043296

, .

Academic Editors: Pablo A. Cantero Garlito, Sabina Barrios Fernández, Rodrigo J. Carcedo González and José Carmelo Adsuar Sala

Received: 19 January 2023 Revised: 9 February 2023 Accepted: 11 February 2023 Published: 13 February 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https://creativecommons.org/licenses/by/4.0/).

1. Introduction

At present, sexual education continues to be a pending subject in many countries [1–4]. Access to this knowledge base is adjusted to each educational stage, emphasising personal development with a scientific basis, but access that is gradual and appropriate to the context and stage of development is insufficient and educational institutions and bodies dedicated to this subject encounter difficulties and obstacles to its teaching [3,5,6].

Even so, the definition of sexual education has changed over the years and is now defined as a pedagogical activity, adapted to each age and culture, which uses rigorous, realistic, and unbiased scientific information at the biological, psychological, and social levels to educate about sexuality, understood as human communication, a source of health, pleasure, and affection [2,7].

Sexual education is a right, recognised by the United Nations [7–10] and prioritised in the Sustainable Development Goals under the goal of health and well-being [11], to build a society in which women and men can live in equality and without discrimination, ensuring healthy lives and promoting well-being at all ages [7]. The World Health Organization [6] defines sexual health as a state of physical, mental, and social well-being concerning sexuality, and not merely the absence of disease or infirmity. Thus, the goal of sexual education should be the enhancement of personal life and relationships, respecting and protecting sexual rights, and not only care and counselling regarding pregnancy or the prevention of sexually transmitted infections (STIs).

There have been numerous international and national implications for sexual education and health. In the document "Promoting sexual health" [9], sexual rights, which emerged in Valencia in 1997, are shown to be at the core of comprehensive sexual education

and the basis for a healthy society. It mentions that sexual education is key to a healthy life. Similarly, in the Montreal Declaration [12], sexual rights education is again taken up as a key to health, to the extent that the World Association of Sexology is renamed the World Association for Sexual Health.

At the Punta Cana congress [13], the Latin American Federation of Societies of Sexology and Sexual Education culminates with a declaration that launches with new impetus the previous contributions: "Comprehensive sexual education". Sexual and mental health education is fundamental for physical, personal, and social health. In Asunción, shortly after the promulgation of the document "Promotion of sexual health", Flores-Colombino [14] insisted in a very direct discourse on the importance of implementing local and global mechanisms that facilitate the exercise of sexual education as a way to sexual health, a path to human health. Likewise, in Spain, in 2011, in the context of scientifically based sexual education, an energetic commitment was made, which crystallised in the document "National Strategy for Sexual and Reproductive Health" [15], which was taken up again in 2019 as an operational plan, "Sexual Health Strategy" [16].

Thus, in our country, the Spanish Constitution promotes "the right to the full development of the human personality" (art. 27.2) and the "right to the protection of health" (art. 43.1). Since the implementation of the LOGSE [17], affective-sexual education has been part of the comprehensive sexual education of pupils and is therefore socially recognised and legitimised as another right. Since then, the different educational reforms have modified aspects of its treatment and the curriculum, but without questioning the need to deal with these issues in the educational context.

The current education law, LOMLOE [18], repeatedly mentions the need to provide quality affective-sexual education that addresses issues such as desire orientation, sexual diversity and identity, gender, etc., but teachers are not being provided with the necessary training to integrate these issues in the primary classroom. However, at the curricular level, sexual education is not incorporated as a subject or as subject-specific content. There are isolated contents and topics, but it is not included in the educational curriculum or textbooks [2,4].

All human behaviour is influenced by culture and by values that are learned and developed in the socio-cultural sphere, where both the family and the school play a predominant role [19,20]. Sexual behaviour is part of this process and, therefore, must have a specific and important weight in the comprehensive sexual education of children and young people as a suitable learning tool. Sexual education helps to prepare young people for life in general, especially to build and maintain satisfactory relationships that contribute to the positive development of personality and self-esteem [1,3].

We start from a positive conceptualisation of health, defining sexuality as a fundamental human dimension for personal well-being through its different possibilities (pleasure, affection, communication, procreation) that can be experienced in relation to different degrees of commitment and with an erotophilic attitude (positive towards sexuality) and tolerant of sexual diversity [3].

Each person, as an open reality, is constituted in a process of realisation oriented towards a healthy life. A process occurs in which the relationship with other people, in the world, is fundamental, as evidenced by personalism [21] or the experiences in which one has grown up without the warmth of other people. Education, exclusive to human personal reality [22], is shown to be the privileged place for the realisation of that healthy life that constitutes the end of our process of realisation [23].

Given that human personal reality is a communicative and symbolic reality, sexuality constitutes the fundamental anthropological structure, insofar as it shows our whole world of personal relations. Thus, education and health form a system, and comprehensive sexual education and health show the apex of this system [19,24], a system in which the epistemological principality is of education and the ontological principality is of health. The only reality that is an end in itself is the personal human reality. Education is the privileged means of health, personal, and social health being the end and the means of personal and

historical self-realisation. This would be the dynamic core of a theory of sexual education. The education-health system constitutes a fundamental anthropological key [25,26].

We need, therefore, training that allows students to replace conceptions based on prejudices and unfounded beliefs with rigorous knowledge. This includes assuming natural attitudes towards sexuality and understanding it as a form of human communication and a source of health, pleasure, affection, and, when desired, reproduction [1,25]. With these premises of sexual education as a source of comprehensive health, this research aims to find out the opinion of students in the Faculty of Education at the University of Granada on the sexual education training they have received and the importance of this training in their professional practice. In addition, an analysis has been carried out of the differences in each of the variables explored, according to gender.

2. Materials and Methods

2.1. Design

To analyse the existing reality on this issue, a description has been made based on the opinion of a specific population using a quantitative and exploratory research design, as we want to verify the relationship between variables at a specific moment in time.

2.2. Participants

The participants in this research were selected through non-probability or convenience sampling [27] in which all students were invited to participate and were taught by the researchers in this study during the 2021–2022 academic year.

The study sample consisted of 293 students from the Faculty of Education Sciences and the inter-university master's degree in culture of peace, conflict, education and human rights at the University of Granada, Spain. Specifically, the young people were students with the master's degree in research, social development, and socio-educational intervention (18.1%), the degree in social education (28.7%), the degree in pedagogy (23.5%), the degree in primary education (11.6%), and the degree in early childhood education (18.1%). The sample consisted of 86.3% women and 13.7% men, with a mean age of 21.51 (SD = 4.3) and with maximum and minimum values of 49 and 18 years, respectively.

2.3. Measuring Instruments

The instrument used for data collection was the New Brunswick Students' Ideas about Sexual Health Education questionnaire, developed by Byers et al. [28]. The questionnaire was adapted to the context of the participants in Spain. This instrument consists of 11 questions, which analyse socio-demographic variables, the need for and importance of comprehensive sexual education, and the degree of importance of the topics to be covered in sexual education at university.

Cronbach's Alpha statistic, with a value of $\alpha = 0.754$, showed optimal reliability of the scale [29]. The questionnaire is assessed using a Likert-type scale with five response options: 1: totally disagree, 2: disagree, 3: neither agree nor disagree, 4: agree, and 5: totally agree, for the first dimension, and 1: none, 2: little, 3: indifferent, 4: quite a lot, and 5: a lot, for the second dimension.

2.4. Procedure

For the collection of information, the instrument was prepared to be administered at the Faculty of Education Sciences of the University of Granada (Spain). The instrument was prepared to be administered online using Google forms software. This process was carried out during the 2021–2022 academic year.

2.5. Data Analysis

Data analysis was carried out using the SPSS v.26 statistical package. Descriptive and inferential statistics were used with non-parametric tests, such as Mann–Whitney U test,

given the results of the Kolmogórov–Smirnov normality test where a value of p < 0.05 was obtained, specifically 0.001. Cohen's d was also calculated to consider the effect size.

In all cases, the statistical significance level obtained was $\alpha = 0.05$.

3. Results

We begin by describing participants' views on the need for and importance of comprehensive sexual education. As we can see in Table 1, 58% of the participants say that they have received poor sexual education, followed by 20.8% who acknowledge that it has been good and in contrast with 18.1% who say that they have had no education at all. Only 3.1% consider that they have received excellent sexual education.

Table 1. Descriptive statistics on the degree of sexual education received.

Received Sexual Education?					
	Frequency	Percentage	Valid Percentage	Cumulated Percentage	
Have had no training	53	18.1	18.1	18.1	
Deficient	170	58.0	58.0	76.1	
Good	61	20.8	20.8	96.9	
Excellent	9	3.1	3.1	100.0	
Total	293	100.0	100.0		

Concerning the following dimensions of analysis, and as can be seen in Table 2, the questions "Do you think that the university should offer courses and activities that facilitate sexual education?" and "Do you think that as people and professionals in education we need comprehensive sexual education?" (M = 3.95) led to the highest agreement among the participants, followed by "Do you think that universities should address the need for sexual education?" (M = 3.92) and "Do you think that in the Faculty of Education degrees there should be a subject on sexual education?" (M = 3.88).

Table 2. Descriptive analyses of the need for the importance of comprehensive sexual education.

Statistics						
_	N		- Average	Standard	Minimum	Maximum
	Valid	Missing	Treinge	Deviations	William	Maximum
I consider that sex education is a recognized right	293	0	3.16	0.985	1	4
I consider that Sexology is an officially recognized profession and endorsed by a professional association	293	0	2.94	1.068	1	4
There are networks of institutions interested in sex education	293	0	3.35	0.826	1	4
I believe that education professionals receive organized training in sex education	293	0	2.24	0.988	1	4
Do you think universities should address the need for sex education?	293	0	3.92	0.370	1	4
Do you think that in the degrees of the Faculty of Education there should be a subject on sex education?	293	0	3.88	0.441	1	4
Do you think that the university should offer courses and activities that facilitate sexual education?	293	0	3.95	0.300	1	4
Do you think that as people and education professionals we need comprehensive sexual education?	293	0	3.95	0.281	1	4
Would you participate in sex education activities?	293	0	3.86	0.480	1	4

Regarding the dimensions with the lowest mean rating, we find "I believe that educational professionals receive proper training in sexual education" (M = 2.24), followed by "I consider sexology to be an officially recognised profession and supported by a professional association." (M = 2.94).

With regards to the degree of importance of the topics to be dealt with in sexual education at university (Table 3), the most highly rated topic (M = 4.87) was respect, followed by education for gender equality (M = 4.75) and sexual health (M = 4.72). The lowest-rated theme is sexual pleasure (M = 4.13). All the topics are perceived by the sample as very important to receive an optimal sexual education at university.

Table 3. Degree of the importance of the topics to be dealt with in sexual education at university.

Statistics						
	N			Standard		
	Valid	Missing	Average	Deviations		
Sexual pleasure	293	0	4.13	0.961		
Gender equality education	293	0	4.75	0.586		
Sexual response orientation	293	0	4.53	0.770		
Respect	293	0	4.87	0.431		
Sexual decision making	293	0	4.67	0.742		
Sexual Health	293	0	4.72	0.700		
Violent relationships	293	0	4.64	0.979		
Cultural and religious understandings of sexuality	293	0	4.32	0.890		

In relation to the existence of statistically significant differences in each of the variables explored, according to sex, the Mann–Whitney U test was applied (Table 4).

Table 4. Significant differences by Mann–Whitney U test.

Test Statistics ^a						
	U de Mann–Whitney	W de Wilcoxon	Z	Sig. Asin. (Bilateral)		
Have I received sex education?	4732.500	36,863.500	-0.740	0.459		
I believe that sex education is a recognized right	4687.000	36,818.000	-0.816	0.415		
I consider that Sexology is an officially recognized profession and endorsed by a professional association	3941.000	36,072.000	-2.372	0.018		
There are networks of institutions interested in sex education	4906.000	37,037.000	-0.345	0.730		
I believe that education professionals receive organized training in sex education	4419.500	36,550.500	-1.349	0.177		
Do you think universities should address the need for sex education?	4063.000	4883.000	-5.086	<0.001		
Do you think that in the degrees of the Faculty of Education there should be a subject on sex education?	4519.000	5339.000	-2.244	0.025		
Do you think that the university should offer courses and activities that facilitate sexual education?	4822.000	5642.000	-1.520	0.129		
Do you think that as people and education professionals we need comprehensive sexual education?	4738.000	5558.000	-1.813	0.070		
Would you participate in sex education activities?	4458.500	5278.500	-2.333	0.020		

Table 4. Cont.

Test Statistics ^a					
	U de Mann-Whitney	W de Wilcoxon	Z	Sig. Asin. (Bilateral)	
Sexual pleasure	4513.500	5333.500	-1.177	0.239	
Education for gender equality	4419.000	5239.000	-1.897	0.058	
Orientation of sexual response	4455.000	5275.000	-1.445	0.148	
Respect	5022.000	5842.000	-0.150	0.881	
Sexual decision making	4435.000	5255.000	-1.732	0.083	
Sexual health	4121.000	4941.000	-2.815	0.005	
Relationship violence	4588.000	5408.000	-1.460	0.144	
Cultural and religious understandings of sexuality	4324.000	5144.000	-1.639	0.101	

^a grouping variable: sex.

In Table 4, statistically significant differences appear in the variables "Do you think universities should address the need for sexual education?" (p =.001), "I believe that Sexology is an officially recognised profession and supported by a professional association" (p = 0.018), "Would you participate in sexual education activities?" (p = 0.020), "Do you think there should be a subject on sexual education in the Faculty of Education?" (p = 0.025), and the degree of importance they assign to sexual health within sexual education at university (p = 0.005).

The values obtained when analysing Cohen's d for the aforementioned variables give a value of 1.060 to the variable "I consider Sexology to be an officially recognised profession and supported by a professional association", with a greater effect size and therefore a bigger difference between the two groups according to sex.

In all the previously mentioned items where we found significant differences between men and women, the differences are in favour of women compared to men with higher averages, except in the item "I consider sexology to be an officially recognised profession and backed by a professional association", where the average for men is significantly higher (see Table 5).

Table 5. Average range according to sex.

		Rangos		
	Sex	N	Mean Range	Sum of Ranks
	Woman	253	145.71	36,863.50
Have I received sex education?	Men	40	155.19	6207.50
	Total	293		
I believe that sex education is a	Woman	253	145.53	36,818.00
	Men	40	156.32	6253.00
recognized right	Total	293		
consider that Sexology is an officially	Woman	253	142.58	36,072.00
recognized profession and endorsed by a	Men	40	174.98	6999.00
professional association	Total	293		
	Woman	253	146.39	37,037.00
There are networks of institutions interested	Men	40	150.85	6034.00
in sex education	Total	293		
[1-1: (1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1	Woman	253	144.47	36,550.50
I believe that education professionals receive organized training in sex education	Men	40	163.01	6520.50
receive organized training in sex education	Total	293		
D 41.1 1 10. 1 11.11	Woman	253	150.94	38,188.00
Do you think universities should address	Men	40	122.08	4883.00
the need for sex education?	Total	293		
Do you think that in the degrees of the	Woman	253	149.14	37,732.00
Faculty of Education there should be a	Men	40	133.48	5339.00
subject on sex education?	Total	293		
Do you think that the university should	Woman	253	147.94	37,429.00
offer courses and activities that facilitate	Men	40	141.05	5642.00
sexual education?	Total	293		
Do you think that as people and education	Woman	253	148.27	37,513.00
professionals we need comprehensive	Men	40	138.95	5558.00
sexual education?	Total	293		
47 11	Woman	253	149.38	37,792.50
Would you participate in sex	Men	40	131.96	5278.50
education activities?	Total	293		

Table 5. Cont.

	·	Rangos		•
	Sex	N	Mean Range	Sum of Ranks
	Woman	253	149.16	37,737.50
Sexual pleasure	Men	40	133.34	5333.50
·	Total	293		
	Woman	253	149.53	37,832.00
Education for gender equality	Men	40	130.98	5239.00
	Total	293		
	Woman	253	149.39	37,796.00
Orientation of sexual response	Men	40	131.88	5275.00
•	Total	293		
	Woman	253	147.15	37,229.00
Respect	Men	40	146.05	5842.00
•	Total	293		
	Woman	253	149.47	37,816.00
Sexual decision making	Men	40	131.38	5255.00
_	Total	293		
	Woman	253	150.71	38,130.00
Sexual health	Men	40	123.53	4941.00
	Total	293		
	Woman	253	148.87	37,663.00
Relationship violence	Men	40	135.20	5408.00
1	Total	293		
C.1	Woman	253	149.91	37,927.00
Cultural and religious understandings	Men	40	128.60	5144.00
of sexuality	Total	293		

With respect to the rest of the variables, there were no statistically significant differences.

4. Discussion

In health education, it is important to highlight the promotion of sexual health, defined by the Pan American Health Organisation [9] as "the experience of the continuum of physical, psychological and socio-cultural well-being related to sexuality" and which "requires an environment free of coercion, discrimination and violence". Two strategies to promote sexual health within the framework of health education are highlighted: "providing sexual education at the school level" and "integrating sexual education into the curricula of educational institutions, as appropriate".

Sexual education can be defined as the set of pedagogical activities using objective and complete information at the biological, psychological, and social levels to train in sexuality, developing skills as well as promoting the acquisition of knowledge, thus leading to the development of critical thinking that generates positive attitudes towards sexuality [30]. For this education to be comprehensive, it must promote human rights, advance gender equality, and improve sexual and reproductive health [5]. It is important to highlight that the lack of training in sexual education exposes young people to situations of vulnerability because they do not have the necessary tools and knowledge to act correctly, facing unhealthy sexual behaviours [31].

Sexual education should be approached as a quest for the fullness of human personal fulfilment in its relationship with other people in the world [19]. It should be based on co-educational approaches to treat people holistically [32]. Addressing sexual education in a comprehensible way in the university environment will have an impact on multiple forms of discrimination, highlighting the fight against male violence, as well as on the development of identity in a full, healthy, and conscious way [33].

Most of the participants in our study acknowledged a lack of sexual education. This lack of training for future education professionals is a problem, as they have a fundamental role in the process of training, guidance, and education, and if they do not have the appropriate knowledge and attitudes, they will not be able to play the role of sexual educators [4,34].

This study highlights the need for university education through a comprehensive sexual education subject, creating an area of knowledge related to health education, with sexual education content such as respect, education for gender equality, sexual health, sexual decision making, violence in relationships, orientation of sexual response, cultural and religious understandings of sexuality, or sexual pleasure, as a result that coincides

with the research carried out by Fernández-Fernández and Calvo-González [1] or Rouco, Vargas, and Martínez [35]. Martínez et al. [36] conclude with the need to introduce sexual education in an explicit way in the educational curriculum, creating an area related to health, well-being, and quality of life, where sexual education content related to health education, education in values, environmental education, peace education, and, in general, all cross-cutting content would have a place, and universities should promote the training of education professionals as specifically as possible.

5. Conclusions

Understanding the importance of comprehensive sexual education for future educational professionals is fundamental to designing effective programmes for young people. In this study, the majority of respondents consider sexual education to be a recognised right, highlighting the importance of educational professionals receiving proper training in sexual education, together with the incorporation of this training at university, through courses or activities or a subject, and the inclusion of a wide range of topics (respect, education for gender equality, sexual health, sexual decision making, violence in relationships, orientation of sexual response, cultural and religious understandings of sexuality, sexual pleasure) in the curriculum.

Finally, the results of this study are contextualised in the province of Granada and, despite its limitations, it allows us to obtain information about comprehensive sexual education as a means of promoting training at university. From these limitations, we can deduce the need for further research to be able to carry out a training programme for future educational professionals.

Author Contributions: Conceptualization, F.J.J.-R., G.G.-G., N.M.-H. and A.A.A.; Methodology, G.G.-G.; Software, G.G.-G. and N.M.-H.; Formal analysis, G.G.-G.; Investigation, F.J.J.-R. and N.M.-H.; Writing—original draft, F.J.J.-R., G.G.-G., N.M.-H. and A.A.A.; Writing—review & editing, G.G.-G., N.M.-H. and A.A.A.; Supervision, F.J.J.-R.; Project administration, F.J.J.-R.; Funding acquisition, F.J.J.-R. All authors have read and agreed to the published version of the manuscript.

Funding: This research was funded by project entitled "Investigación en Educación Sexual Integral" (INV-IGU166-2021), funded by the Precompetitive Research Projects programme of the Plan Propio 2021, University of Granada, Spain.

Institutional Review Board Statement: The study was conducted according to the guidelines of the Research Ethics Committee of the University of Granada (Spain).

Informed Consent Statement: Informed consent was obtained from all subjects involved in the study.

Data Availability Statement: The data presented in this study are available upon request from the corresponding author.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Fernández-Fernández, D.; Calvo-González, S. Diagnóstico educativo en el Grado en Pedagogía de la Universidad de Oviedo: Educación sexual como contenido curricular explícito. *Rev. Electrón. Educ.* **2022**, *26*, 386–407. [CrossRef]
- García-Vázquez, J. La educación sexual: ¿en tutorías o curricular? Magister 2021, 33, 25–32. [CrossRef]
- 3. Garzón Fernández, A. La educación sexual, una asignatura pendiente en España. Biografía 2016, 9, 195–203. [CrossRef]
- 4. Martínez, J.L.; Vicario-Molina, I.; González, E.; Ilabaca, P. Sex education in Spain: The relevance of teachers' training and attitudes/Educación sexual en España: Importancia de la formación y las actitudes del profesorado. *Infanc. Aprendiz.* **2014**, *37*, 117–148. [CrossRef]
- 5. Hurtado, F.; Pérez, M. Educación Para la Sexualidad Con Bases Científicas; AES: Madrid, Spain, 2011.
- 6. United Nations Educational, Scientific and Cultural Organization. *Orientaciones Técnicas Internacionales Sobre Educación en Sexualidad: Un Enfoque Con Base en la Evidencia*; UNESCO: Paris, France, 2018.
- 7. UNESCO. International Technical Guidance on Sexuality Education: An Evidence-Informed Approach. Organización de las Naciones Unidas Para la Educación, la Ciencia y la Cultura. 2018. Available online: https://unesdoc.unesco.org/ark:/48223/pf0000260770_eng (accessed on 30 November 2022).
- 8. World Health Organization. Promoción de la Salud Sexual. Orientaciones Para la Acción; Flasses: Guatemala, 2000.

- 9. Pan American Health Organization; World Health Organization; World Association for Sexual Health. *Promoción de la Salud Sexual. Recomendaciones Para la Acción*; Pan American Health Organization: Antigua Guatemala, Guatemala, 2000.
- 10. World Health Organization. Documento de Estándares de Educación Sexual Para Europa. Oficina Regional de la Oms Para Europa y BZgA. 2010. Available online: http://www.madridsalud.es/publicaciones/OtrasPublicaciones/standars_de_calidad_de_la_educacion_sexual_en_europa_tra-ducido_12nov.pdf (accessed on 30 November 2022).
- 11. UNESCO. Estrategia de la UNESCO Sobre la Educación Para la Salud y el Bienestar: Contribución a los Objetivos de Desarrollo Sostenible. Organización de las Naciones Unidas Para la Educación, la Ciencia y la Cultura. 2017. Available online: https://unesdoc.unesco.org/ark:/48223/pf0000246453_spa (accessed on 30 November 2022).
- Declaracion de Montreal. 2005. Available online: https://www.declarationofmontreal.org/DeclaraciondeMontrealES.pdf (accessed on 28 November 2022).
- 13. *Declaración de Punta Cana*; Flasses: Punta Cana, Dominican Republic, 2014; Available online: https://www.espill.org/wpcontent/uploads/2016/01/educacion-integral-de-la-sexualidad-punta-cana-2014.pdf (accessed on 5 December 2022).
- 14. Flores, A. Bases de Una Sociedad Sexualmente Sana; Flassess: Asunción, Paraguay, 2022.
- 15. Ministry of Health, Social Policy and Equality. Estrategia Nacional de Salud Sexual y Reproductiva. Gobierno de España. 2011. Available online: https://www.mscbs.gob.es/organizacion/sns/planCalidadSNS/pdf/equidad/ENSSR.pdf (accessed on 5 December 2022).
- 16. Ministry of Health. Consumption and Social Welfare. Estrategia de Salud Sexual; Sanidad: Madrid, Spain, 2019.
- 17. LOGSE. Available online: https://www.boe.es/buscar/doc.php?id=BOE-A-1990-24172 (accessed on 5 December 2022).
- LOMLOE. Available online: https://www.boe.es/buscar/pdf/2013/BOE-A-2013-12886-consolidado.pdf (accessed on 5 December 2022).
- 19. Jiménez Ríos, F.J. El Valor Sexual en la Educación Integral de la Persona. Un Análisis Estimativo en la Facultad de Ciencias de la Educación de Granada. 2003. Available online: https://digibug.ugr.es/handle/10481/4409 (accessed on 5 December 2022).
- 20. Lucas, M. Invitación a una sexología evolutiva. Rev. Sexol. 1991, 46–47.
- 21. Vimont-Vicary, P.; Jouvet-Mounier, D.; Delorme, F. Effets EEG et comportementaux des privations de sommeil paradoxal chez le chat. *Electroencephalogr. Clin. Neurophysiol.* **1966**, 20, 439–449. [CrossRef] [PubMed]
- 22. Kant, I. Pedagogía; Akal: Madrid, Spain, 1983.
- 23. Gervilla, E. Los Valores del Cuerpo Educando; Herder: Barcelona, Spain, 2000.
- 24. Jiménez Ríos, F.J. Memoria Poética. In *Imaginer la Théologie Catholique*; Melanges offerts à Ghislain Lafont; Driscoll, G., Ed.; Studia Anselmiana: Roma, Italy, 2000.
- 25. García-Vázquez, J.; Quintó, L.; Agulló-Tomás, E. Impact of a sex education programme in terms of knowledge, attitudes and sexual behaviour among adolescentes in Asturias (Spain). *Glob. Health Promot.* **2019**, 27, 122–130. [CrossRef] [PubMed]
- 26. Reyero, D. ¿Cabe una educación sexual que sea expresión de una inteligencia cultivada? Rev. Esp. Pedagog. 2021, 79, 115–129.
- 27. Otzen, T.; Manterola, C. Técnicas de Muestreo sobre una Población a Estudio. Int. J. Morphol. 2017, 35, 227–232. [CrossRef]
- 28. Byers, E.S.; Sears, H.A.; Voyer, S.D.; Thurlow, J.L.; Cohen, J.N.; Weaver, A.D. *New Brunswick Students' Ideas about Sexual Health Education*; Report Prepared for the New Brunswick Department of Education; Department of Psychology, University of New Brunswick: Fredericton, NB, Canada, 2001.
- 29. Ferrando Piera, P.J.; Lorenzo Seva, U.; Hernández Dorado, A.; Muñiz Fernández, J. Decálogo para el análisis factorial de los ítems de un test. *Psicothema* **2022**, *34*, 7–17. [CrossRef]
- 30. García-Vázquez, J.; Ordóñez, A.L.; Arias-Magadán, S. Educación sexual: Opiniones y propuestas del alumnado y profesorado de los institutos de secundaria de Asturias, España. *Glob. Health Promot.* **2014**, *21*, 74–82. [CrossRef] [PubMed]
- 31. Rivas, E. Educación Sexual: Propuesta de introducción de los contenidos de se-xualidad en el currículo educativo del primer ciclo de Educación Secundaria Obligatoria. *Educ. Digit. Futuro* **2021**, 23, 151–178.
- 32. Pellejero Goñi, L.; Torres Iglesias, B. La educación de la sexualidad: El sexo y el género en los libros de texto de Educación Primaria. *Rev. Educ.* **2011**, 354, 399–427.
- 33. Cunha-Oliveira, A.; Camarneiro, A.P.; Gómez-Cantarino, S.; Cipriano-Crespo, C.; Queirós, P.J.P.; Cardoso, D.; Santos, D.G.; Ugarte-Gurrutxaga, M.I. The Integration of Gender Pers2pective into Young People's Sexuality Education in Spain and Portugal: Legislation and Educational Models. *Int. J. Environ. Res. Public Health* **2021**, *18*, 11921. [CrossRef]
- 34. Pauta, D.E.M.; Hermida, E.M.J. Educación sexual: La asignatura pendiente. Maskana 2015, 6, 27–38. [CrossRef]
- 35. Rouco, N.F.; Vargas, M.A.F.; Martínez, J.A.G. Conocimientos, actitudes y comportamientos sexuales de riesgo en estudiantes universitarios costarricenses de Educación. *Summa Psicol. UST* **2018**, *15*, 145–153.
- 36. Martínez Álvarez, J.L.; Orgaz Baz, M.B.; Vicario Molina, I.; González Ortega, E.; Garcedo González, R.J.; Fernández Fuertes, A.A.; Fuertes Martín, A. Educación sexual y formación del profesorado en España: Diferencias por sexo, edad, etapa educativa y comunidad autónoma. Magister Rev. Form. Profr. Investig. Educ. 2011, 4, 37–47.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.